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Denote this in (disjoint ) cycle notation by :

Notes :

i . A 2- cycle is also called a transposition .

2
. Usually don't write l - cycles :

( I 6) (2347) =

↳ if a number doesn't appear in a cycle,
it's understood that the number maps to itself

.
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Have to keep track of which sq you are considering .

Exception : E =

3
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4 . Disjoint cycles commute :

( lb ) (23 4 7) =

-

J
disjoint b/c no number

appears in both cycles.

S
. Every permutation can be expressed (using the

algorithm above) as a cycle or a
- product

of cycles.
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( t ) = (2) = (3) = etc
.
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